[bookmark: _GoBack]Page 370 #37-45 ANSWERS
[image: ][image: ]

[image: ]
image1.png
37. x=—6,3,5
&) = (x + 6)(x — 3)x = 5)
=(2+3x—18)(x—5)
=x— %2 —-33x+ 90

8. O(+5)(x -2)
X2 545 -2X-10
39. x=-2,—4,-7
f@)=(+2)x+4)x+7)
=+ 6x+8)x+7
=x + 13x% + 50x + 56
40. x =8, —i,i
fx) = —8)x*+1)
=x*—82+x—8
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41, x=53i,-3i
f@0) = (x = 5)x = 3i)(x + 3)
=(x—5)x*+9)
=2 -5+ 0%x—45
42. x=2,-2,—6i,6i
fx) = (2 — 4)(x* + 36)

=x'+32c2— 144
43, x =i, —i,—3i,3i
fx) = (2 + 1) +9)
=x4+ 10+ 9

a4 x=3—i3+i5-50
f) =[x = (3= )lx = (3 + )](x — 5i)x + 5i)
=[x = 3) + ill(x — 3) = i](x* — 25i%)
=[x = 3)* — i?](x* + 25)
= (x = fx + 10)(x* + 25)
=x* — 62 + 3522 — 150x + 250
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45. x=4,42+i,2—i
f) == -4 -2+ )]x -2 -]
= (2= 8x+ 16)[(x — 2) — iJ[(x — 2) +i]
=(x2— 8x + 16)[(x — 22 — i?]
= (x> — 8x + 16)(x*> — 4x + 5)
Slx) = x* — 126 + 53x2 — 104x + 80




